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KBS BB mYEERE Tk

No. EB LT L TE (mm) N LG B P gt R O e
L H D kg) | (m/%) HE ®E =R | B

1 (7Rt 7 LRy a5 k2 1 25,500 300 48.6 | BEN K 7 LEER 900 10 BEAN O O

2 (7A€ TLYARYaI(4 R 1 25,500 300 48.6 | BE K T LEER 900 10 BEAN O O

3 HMEARHAUTERERE3 1 e BHF 5 LB 5w O o

b MEARHETEERGEE 2 1 B LI

b HEARATLTERBEE 1 1 aE B £ 5 L 5E

6 LtF-TFTESOL-FLASEO SR 2 3,200 #E = 600 BE)ETH 3 EAN

7 [ 7Aat=7L7"Y vI(PBL - PAL) 1 26,000| 3,000 600 @ FJEF T LEERRA 900 10 BEAN O

8 Bk 1 1 25,500 48.6 48.6 | BE K T LEER 1000 0~90 INV O

9 BMR 2 1 25,500 48.6 48.6 | BE) KN 7 LEER 1000 0~90 INV O

10 [#BiR3 1 25,500 48.6 48.6 | B/EY KN 7 LEER 1000 0~90 INV O

11 s 1 25,500 300 48.6 | BE) K 7 LB 900/ 0~90 INV O

12 [ EffiN b1 1 25,500 300 48.6 | TBE) N 7 LAES 900/ 0~90 INV O

13 ERE ! FDBIEA

14 | grHTR 1 25,500 300 48.6 | TBE) N 7 LAES 900/ 0~90 INV O O O
15 =N kv 2 1 19,200 300 48.6 | BE) K 7 LB 900/ 0~90 INV O O O
16 EMNFY 2Ry (EF) (FF) 2 2,600 300 48.6 | BE K T LEERR 900 0~90 INV O O O
17 |54 71 v 1(BL1-AL) 1 18,800 BEF 7 LERRA 1500 10 BEAN O O O
18 BL1ZEENLY (EF) (FF) 2 2,900 300 48.6 | BE) K T LB 100 10 INV O O O
19 ALEEAN LY (EF) (FF) 2 3,300 300 48.6 | BENF 7 LEEH 100 10 INV O O O
20 |ZEfTNb> 3 1 17,000 300 48.6 | BEY N 7 LEES 600/ 0~90 INV O O O
21 EMANRVIERANLNY (EF) (FF) 2 3,700 300 48.6 | BEF 7 LEEH 130, 0~90 INV O O O
22 | =N 4 1 16,800 300 48.6 | BE) N 7 LAES 600/ 0~90 INV O O O
23 EMNRVAERANRY (EF) (FF) 2 4,000 300 48.6 | BENF 7 LEEH 150, 0~90 INV O O O
24 |ZEMTANF B 1 16,200 300 48.6 | BE) N 7 LAES 600/ 0~90 INV O O O
25 |EMNRVBERARY (EF) (TF) 2 4,200 300 48.6 | BEN K 7 LEER 150, 0~90 INV O O O
26 |ETNb>6 1 15,600 300 48.6 | BEY N 7 LAES 900/ 0~90 INV O O O
27 EMNR VRN Y (EF) (FF) 2 4,500 300 48.6 | BENF 7 LB 160, 0~90 INV O O O
28 |#&HTR 1 15,400 300 48.6 | EBE) N 7 LAES 550/ 0~90 INV O O O
29 BATRERNLY (EF) (FF) 2 4,600 300 48.6 | BEF 7 LEER 1700 0~90 INV O O O
30 —X=F1 1 25,500 300 48.6 | EBE) N 7 LAES 900/ 0~90 INV O O O
31 |51E1%E 1 1 25,5001 300 48.6 | BE) K 7 LSRRI 900/ 0~90 INV O O O BlEIL— I+ TRy FNH—
32 | EMANT 1 25,500 300 48.6 | BEY N 7 LAES 900/ 0~90 INV O O O
33 |EMANL 8 1 25,5001 300 48.6 | BEN K 7 LSRR 900/ 0~90 INV O O O
34 |54 7Y wy2(BL2-AL) 1 23,200 FBE KR T LB 1500 10 BEAN O O ERE
35 |ZEMFANR9 1 22,000/ 300 48.6 | BE) K 7 LB 900/ 0~90 INV O O O
36 —XF2 1 22,0000 300 48.6 | BE) N 7 LAES 900/ 0~90 INV O O O
37 |B1E1%E 2 1 22,000/ 300 48.6 | BE) K 7 LS 900/ 0~90 INV O O O BlEIL— I+ TRy FNVH—
38 |R—4%—54 F3(LEF-fhk-TF) 1 22,000/ 300 48.6 | BE K T LEER 500 10 BEAN O O

39 EMANL10 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
40 (ZEfiN b 11 1 22,000/ 300 48.6 | BE K T LEERR 900/ 0~90 INV O O O
41 (EMAN K12 1 22,000/ 300 48.6 | BE KN 7 LEER 900/ 0~90 INV O O O
42 (=N b 13 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
43 | —XF3 1 22,000/ 300 48.6 | BE) K 7 LS 900/ 0~90 INV O O O
44 |54 7Y v 3(BLAAL) 1 23,200 FE N T LSRR 1500 10 BEAN O O ERE
45 | —XF 4 1 22,0000 300 48.6 | BE) K 7 LSRRI 900/ 0~90 INV O O O
46 |5|EIE 3 1 22,0000 300 48.6 | BEY N 7 LAES 900/ 0~90 INV O O O BIEIL—IL+ TRy FNvH—
47 R—KZ—54 F5(LEF -hR-FTF) 1 22,000/ 300 48.6 | BE K 7 LEEH 500 10 BEAN O O

48 | Effi/N b 14 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
49 |ZEf/N K15 1 22,000/ 300 48.6 | BE K 7 LEER 900/ 0~90 INV O O O
50 [T/ k16 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
51 |S=MN k17 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
52 |ZEff/N 18 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
53 |ZEM/N 19 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
54 |\ k20 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
55 |ZEMN k21 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
56 | =T\ k22 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
57 |—XF5 1 22,000/ 300 48.6 | BE) K 7 LB 900/ 0~90 INV O O O
58 |51E1E 4 1 22,0000 300 48.6 | EBE) N 7 LAES 900/ 0~90 INV O O O BIEIL—IL+ TRy FNvH—
59 IR—&—F4 k6 1 22,000/ 300 48.6 | BE) K 7 L& 500 10 BEAN O O

60 |7\ k23 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
61 |S=EMT/N k24 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
62 | =T\ k25 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
63 |EM/N K26 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
64 | =N k27 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
65 |—XF6 1 22,000/ 300 48.6 | BE) K 7 LSRRI 900/ 0~90 INV O O O
66 |74 K7YU w4 (BLT-AL) 1 23,200 FE N T LSRR 1500 10 BEAN O O B
67 |/ k28 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
68 |Z=fiT/N k29 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
69 |7/ k30 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
70 | =N k31 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
71 | EMAN K32 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
72 | =N b33 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
73 | EMN 34 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
74 | ZEfTN 35 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
75 | =N k36 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O
76 | =N k37 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
77 |—X=F7 1 22,000/ 300 48.6 | BE) K 7 LSRRI 900/ 0~90 INV O O O
78 |IR—%—514F8 1 22,0000 300 48.6 | BEY N 7 LAEF, 500 10 BEAN O O

79 | =M k38 1 22,000/ 300 48.6 | BEF 7 LEEH 900/ 0~90 INV O O O
80 |==AiT/N k39 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O
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81 |7/ k40 1 22,000/ 300 48.6 | BEF 7 LEEH 900/ 0~90 INV O O O

82 |\ k4l 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O

83 | =T/ k42 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O

84 |ZEAiT/N k43 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O

85 | =T/ k44 1 22,000/ 300 48.6 | BE K 7 LEEH 900/ 0~90 INV O O O

86 |Z=fiT/N k45 1 22,000/ 300 48.6 | BE K T LEER 900/ 0~90 INV O O O

87 |—XF8 1 22,0000 300 48.6 | BE) K 7 LB 900/ 0~90 INV O O O

88 | K7 w/S—kKUY Vv kT4 b 1 22,0000 300 48.6 | EBE) N 7 LAES 500 10 BEAN O O O

89 [RENLV1 1 22,000/ 300 48.6 | BE) K 7 L& 900 10 BEAN O

90 [RENFY2 1 22,0000 300 48.6 | BEY N 7 LAES 900 10 BEAN O

91 |[RENL> 3 1 22,000/ 300 48.6 | BE) K 7 LB 900 10 BEAN O

92 [fRENFV4 1 22,0000 300 48.6 | BEY KN 7 LAEES 900 10 BEAN O

93 |[BENLV 5 1 22,000/ 300 48.6 | BE) K 7 LSRR 900 10 BEAN O

94 [RENFV6 1 22,0000 300 48.6 | BEY N 7 LAES 900 10 BEAN O

95 |[BRENLT 1 22,000/ 300 48.6 | BEN K 7 L& 900 10 BEAN O

96 | LFET- FFRITRARYTa T4 b 2 4,500/ 300 48.6 | BEK T LEER 150 10 BEAN O

97 |EFHB - FTFERERYIRYY 3T A4k 2 4,900 300 48.6 | BEF 7 LEEH 150 10 BEAN O

98 | KE 1 BE 48.6 48.6 | BE K T LEER 900 0~90 INV O O O

99 K2 (£F) (FF) 2 8,500 = 48.6 48.6 | BEN K 7 LEEH 400 0~90 INV O O O

100 | KKV —XF 1 BE 48.6 48.6 | BEF T LEERR 900 0~90 INV O O O

101 |\ KR —XF (EF) (FF) 2 8,500 = 48.6 48.6 | BEF 7 LEER 900 0~90 INV O O O

102 [ KR Y Ny o 1 BE 48.6 48.6 | BEN K T LEER 900 0~90 INV O O O

103 | KRUY > by s (EF) (FF) 2 8,500 = 48.6 48.6 | BEF 7 LEER 400/ 0~90 INV O O O

104 RENMVEF 10 11,500 48.6 48.6 | BEN K T LEER 500 10 BEAN O

105 REN T F 10 11,5001 48.6 48.6 | BENF 7 LEEH 500 10 BEAN O

106 ABEL: 2 mE 54500 BE BBFSLEER ABE | 3 | BEAn O

e e PENE (FRARE FLG
107 ZEEBREE [Z2] (EF) (FF) 2 - - - BH RS LA 200/ 10 BEAN O ) ERA L 0o BRI 5P 1= R






